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General Awareness / H6dS WWIAH (W™ ATIIgA3T)

Which state borders Punjab on the
South?

(A) Haryana

(B) Delhi

(C) Himachal Pradesh

(D) Madhya Pradesh

Which city of Punjab is famously known
as City Beautiful?

(A)  Amritsar
(B) Ludhiana
(C) Pathankot
(D)  Chandigarh

What is another name of Qila Raipur
Sports Festival?
(A)  Rural Commonwealth
(B
(C)
(D)  Rural Wimbledon

~—"

Rural Olympics
Rural Championship

Where is Shamsher Khan's tomb located

in Punjab?
(A)  Gurdaspur
(B

(C) Amritsar
(D)  Phillaur

Jalandhar

~—"

D

In a fibre optic cable signal travels in the
form of:

A)  Electricity
B) Magnetism
Sound
Light

Uy © vy &9 f9a3 I AfE3 92

(A)  Ifgorrer
B) fo&t
(C) foresyen
(D) Hoyew
Urrg w1 fqg3 wfgd frdt fadies (City
Beautiful) ® 3™ &T8 AT A7ieT J?
(A)  ifi{373
(B) e
(C) Us®AL
(D) d3tag
forT IrYI AUTH SHCISS T AT & ot
J?
(A)  JI% AHAZE
(B) JI% QIfUIH
(C) gIs Tty
(D) JI% (Ca83a
UATg e HHId UTs T HIgd' [ 8 AfE3
J?
(A)  JIITHYd
(B) #HUd
(C)  wifizra
(D) fe&a
grdlgg »idfeq 9% &g fHIBS
T QU feg e I
(A) farst
(B) dgd3
(C) Tal
(D) Yyam
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Which provision of the Constitution of
India provides immunity from ‘self -
incrimination’ (witness against himself)?

(A)  Article 19
(B)  Article 20
(C) Article 21
(D) Article 22

Which of the following provisions of the
Indian Constitution has been taken from
the Weimar Constitution of Germany?

(A)  Directive Principles of State Policy

(B) Federalism

(C) Emergency and its effects on the
Fundamental Rights

(D)  Concurrent List

Panchayati Raj Institutions and urban

local bodies led towards a system called:

(A)  Democratic pluralism

(B)  Democratic monism

(C) Democratic centralisation

(D)  Democratic decentralisation

What proportion do the elected members
of the district level Panchayat have in the

District Planning Committee?
(A)  Half of the strength

(B)  One-third of the total strength
(C)  Two-thirds of the total strength
(D)  Four-fifths of the total strength

3193 © AUl T fagz feus Fean
BTG (self -incrimination) (MU fedu

JeI) 3 HI3IFT feeTI?

(A)  »Eex 19

(B)  gex 20

(C)  gex 21

D)  WEex 22

31331 Aifeurs © It fofant fed fan feas
Q AdHal © H Hieus fed fanT fam 32

(A)  IH YTSH € fegensHd fHUi3

(B) HueTw

(C)  WHIH w3 Hifsa wifterat 3 fore
ygre

(D) AHIS gt

Hrgret & fod YaTait @ widl <utont J, fim

3 foggrAwd

A) B33 ndaeE

B

Bq33dt nige3ad

~—

(
(
(C) BI33J JdTdtAIs
(D)

D) 33t fedediads

g UHsT st feg fagT Yudt Jafes ©
T e HeEd T3 it J?

(A) I HPATE T

(B) I Hitp w1 fea-f3gret

(C) IS A T2 f3are

(D) & At T gy
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10.

11.

12.

13.

14.

When was the province of "East Punjab"

renamed as the state of "Punjab"?

(A) 1950
(B) 1956
(C) 1966
(D) 1971

Which among the following was not a part
of Patiala and East Punjab States Union?

(A) Patiala

(B) Faridkot
(C) Malerkotla
(D)  Pathankot

In which year was the Sikh political party,
Shiromani Akali Dal found?

(A) 1900
(B) 1910
(C) 1920
(D) 1930

In which district Roshni Da mela
organised every year in Punjab?

(A)  Amritsar
(B)  Ludhiana
(C) Jalandhar
(D) Bathinda

Captain Amarinder Singh was
commissioned in which regiment of the
Indian Army?

(A)  Gorkha Rifles

(B) Bihar Regiment
(C) Sikh Regiment
(D) Madras Regiment

gt e i3 w1 s ddrg g Jftpar
fapat Hi?

(A) 1950
(B) 1956
(C) 1966
(D) 1971

fegat fed faazr ufens »i3 dire yag

HITH Yoia w1 fJAT &l HI?
(A)  ufcemrsr

(B) gTdtwde

(C) HBIAHT

(D) Ya&de

iy Iral3d Urgdt gHSt niars! w3
AT A A Jet Hi?

(A) 1900

(B) 1910

(C) 1920

(D) 1930

Uy feg, Ias! T WS 99 7 faas s
feg Bafer 2

(A)  wifzHg
(B) Bftmre
(C) wdug
(D) =&z

Iriti e feg fagas isT famr #ie

(A) gy JrEtesd

(B) fggrg oditde
(C) iy Jtic
(D) WTJH Irie
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15.

16.

17.

18.

Who among the following addresses the

foqt fed de »id 9t 3 amie R Ufas

House of the People at the first session A6 W3 79 7S = Ufd® ARG <t gars
after each general election and at the W@HW@WW@?
commencement of the first session of

each year?

(A)  The President of India (A)  Ig3 T IHIIUS

(B)  The Speaker of Lok Sabha (B) B HAI T AUtad

(C)  The Prime minister of India (C) 393w YUE H3dt

(D)  The Chairman of Rajya Sabha (D) I AT T 9MdHS

Delhi has all the legislative powers of a TSt 3% &9 g1 Thoit Ardhli feuraq
state, EXCEPT: A3 I, fiere I

(A)  Police and land (A)  UfSHM3 P

(B)  Education and health (B) fHftmr = fAa3

(C) Sanitation and construction (C) HgTe »3 BTt

(D) Local bodies and rural areas (D) HE&A HAER! »3 JIHIE 34

Which of the following schedules of the
Constitution of India recognises 22
languages as official languages?

(A Sixth schedule

(B Seventh schedule
(C) Eighth schedule

(

D) Ninth schedule

Article 22 of Indian constitution related to

3793 ¥ Hieurs ©t fqadt »iggdl feg 22
IR & W3 I T HG3T Y3
J?

(A) &< wigHet
(B) W3 wizgat
(C) wis wigHd!
(D) & wiggat

Fundamental Rights, provides the citizens MEBT 22 NI & YE's I I

with
(A)  abolition of titles

(B) protection against arrest and
detention in certain cases

(C) equality before law

(D) freedom to choose their occupation (D)

(A)  nigfenigr

(B) g9 AfgSti i3 fa[e3rdt i3
&rggd fedu mdfnr

(C) Jga <t ard feg AHG3T

WY {31 g&& Tt mreedt
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19.

20.

21.

22.

23.

What is a code generally hidden in games WWHW%HWS*”H I fggzT AT
et JeTd, 7 312 & AHTS Y8 eT 92

or spreadsheets and causes harm to the

data?

A)
B)
C)

)

(
(
(
(D

Disk Cleaner
Boot Sector Virus
Worm

Trojan Horse

Which among the following is built in
computers to connect it to a wired

network?

(A)  Ethernet Port

(B) Parallel Port

(C)  VGA Monitor Port
(D) PS/2 Ports

Which among the following is NOT a type

of Jhumar Dance?

(A)
(B
(C
(D)

~ —

Sutlej Jhumar
Beas Jhumar
Malwan Jhumar
Multani Jhumar

Where is the Gurudwara Dukh Nivaran
Sahib located?

A)
B
C
D)

S— =

(
(
(
(

Amritsar
Bhatinda
Patiala
Chandigarh

Which is a Sikh festival held to
commemorate Sri Guru Nanak Dev Ji’s

birth?

A)
B
C
D)

N S

(
(
(
(

Teeyan

Diwali
Guruparab
Rakshabandhan

(A)
(B)
(C)
(D)

f3Ha q8tad
ge Haed <ifean

SIH
A6 JaA

feast fed faaz duGeg fea fer §

313-Ud3 B &8 136 el gy

fame 32

(A)  degdcUde

(B) UIBH Ude

(C) VGAW&led Ude

(D) PS/2 Ud<H

Jat fidfnft &9 faazr gva © ffq yarg
ERIkH

(A)  A3BHAIHI

(B) fomH3HT

(C) HSBTIHI

(D) UB3E3H

JIONTT Y faerds mifae fod AfEs 9
(A)  wifzHg

(B) =&

(C) Yfemrar

(D) d3tZ

Ayt w1 a3 13899 H Iid a6 de Hi &
AoHes © U g HatomT AieT I

(A) It

(B) gl

(C) Jrdyddg

(D)

o

JAH™EUA
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24.

25.

26.

27.

28.

Who was the Mahant of Gurudwara Guru
Ka Bagh before it was obtained by Akali
dal in the year 19227

A)  Mahant Sundar Das

(

(B) Mahant Narayan Das
(C) Bhai Laxman Singh
(D) Ripudaman Singh

The government’s ‘Padhna Likhna
Abhiyan’ aims to achieve which of the
following?

(A)  Full Employment
(B)  Basic Literacy

(C)  Higher Education
(D)  Technical Education

Soda water contains which of the
following gases?

(A)  Carbon Dioxide
(B) Hydrogen

(C) Nitrogen

(D)  Ammonia

Alluvial plains formed by Ghaggar river in
south-east of Punjab are known as

(A) Bet

(B) Khadar
(C) Nally
(D) Kandi

Which Sikh Guru created the Khalsa in
16997

(A)  Guru Nanak Dev
(B) Guru Amardas

(C)  Guru Gobind Singh
(D)  Guru Har Rai

1922 8 WAH TS AT YY3 i3 7S
3 Ufgst IIgenmTaT J1g o 9191 € HI3 A
HI?

A)  HJI3HEITH

(

(B) HJ3 &ITEE TH

(C) It & fiw

(D) fayeHs fAw

HIATd & U fSHST mifgnfis’ &1 dtagr
foat fed foam & Yyus 99&1 97

(A)  Yda Iddrd

(B) HesANYIS

(C) Godt fHftpur

(D)  3J&I fHfemr

AT @ed feg I et fed faadt I
Jet J?

(A) IS IEHTIAES

(B) T3S

(C) =TS

(D)  nHaMT

UArg © TYE-YdJd <9 Warg efgnm gmrar
e I AR AT § o Afent
AT

(A) ¥<
(B) ywd
C) 3d
(D) St

form fHY 91d & 1699 <9 Y& AT €t HEUET
Si3t?

A)  HId & &S T A

(

(B)  Hi Ird »HITH
(C) g Jife fRw
(D) w91 Ifdare

AC



29.

30.

31.

32.

33.

At which part of the eye is the image of
an object formed?

(A) Sclera
(B)  Pupil
(C) Retina
(D) Iris

If you want to store charge, which of the
following device you will use?

(A)  Ammeter
(B) Resistor
(C) Capacitor
(

D) Transistor

In right-hand thumb rule, thumb point
towards

(A)  The direction of magnetic field
(B)  The direction of magnetic force
(C)  The direction of electron

(D)  The direction of current

Which disease among the following does
not have a vaccine?

(A)  Chickenpox
(B) Hepatitis A
(C) Hepatitis B
(D) HIV

Which among the following is a warrior
sect of Sikhism?

(A) Udasi
(B) Nihang
(C) Namdhari
(D) Nirmala

Yy = {93 31 §3 fan @rg = yZifde
g

(A)  HIST (Sclera)

(B)  Y3&! (Pupil)

(C) J3& (Retina)

(D)  WTEgHA (Iris)

Had 3H 979 HId Id&T I1de d, 31398

feat fed fam<t =93 g9t Irdiet 32

(A)  whpited

(B) Jffmeg

(C) JUAad

(D) <ifiAcd

T 98 © Mgs © fau g, »iger
<5 fogrgr g9T I

(A)  dgdlt u3g <t fem
(B) dudlt vm <t fem

(©) fedees <t fam

(D) gde <t famr

J& fSfmit fed fagdt fanrdt w Jan Hge
S I?

(A)  w9d

(B) JuTEieH A

(C) JUeTEteA B

(D) HIV

Jot it 4 fagz iy gor = fEx
w feger I?

(A) BemH

(B) f&ddi

(C) &MUt

(D) fagH®T

AC



34. Who among the following appears on Jot fefamit fed I Irat Hfeus <t wigee
behalf of the Government of India in any 143 ® WEATY GUIH JAd< Bt IHTIUS
reference made by the President to the  f9R < Hegd fEg 9793 Adad <& J1fdd
Supreme Court as per Article 143 of the g“ET J?

Constitution of India?

(A)  Vice President (A)  Buamegudt
(B)  Prime Minister (B)  yurs H3dt
(C) Attorney General (C) IS HRIS
(D)  Home Minister (D)  dffg H3dt

35.  Which article of the Constitution of India 3733 ® HfeUs € faadt miga< IHIIU
authorises the President to seek the & AUIMH dd< €t I & Tt wifuargs
opinion of the Supreme Court? 3-(6-@5?

(A)  Article 134 (A)  MEex 134
(B)  Article 139 (B) nas< 139
(C) Article 143 (C)  "dex 143
(D) Article 148 (D)  ME&ex 148
Quantitative Aptitude and Numerical Skills / HT3IEHI W8T M3 ATYHSHS Tad

36. Find the average of following numbers: foHafsiy3 Bttt Tt WAz u3T 94|
245,452,729, 927, 121, 208 245, 452, 729. 927. 121, 208
(A) 474 (A) 474
(B) 744 (B) 744
(C) 447 (C) 447
(D) 454 (D) 454

37.

If 0.42a = 0.00224b, then find ba .
b+a

(A) 378
377
(B) 19
13
(C) 377
373
(D) 13
19

.b—a
A 0.42a = 0.00224b I, BTELBTE(?II

(A) 378
377
(B) 19
13
(C) 377
373
(D) 13
19

10
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38.

39.

40.

41.

Simplify the following.
(1.2)3 — (0.8)2

(A) 10.88
(B) 1.88
(C) 1.088
(D) 18.8

Simplify the following.

7 6f 1092 of > of —
13 8 21

(A) 34
(B) 42
Cc) 1z

45
(D) 14

29

If 20 women earn X 2000 in 5 days, how
much will 30 women earn in 8 days?

(A) %6000
(B) %2200
(C) %4800
(D) %4000

A can dig a hole in 40 days and B can do
it in 60 days. Along with C, they did the
job in 12 days only. In how many days
can C alone dig two such holes?

(A) 24 days
(B) 48 days
(C) 10 days
(D) 8days

Jot f'd3 4 I8 941
(1.2)3 — (0.8)2
(A) 10.88
(B) 1.88
(C) 1.088
(D) 18.8
J5t 3 & I 3|
2 miarp92w
21 8 13
(A) 34
(B) 42
(C) 1z
45
(D) 14
29
H 20 »g3t 5 fest f&g = 2000 IHET

Ia, 3130 »ig3t 8 foat feg fdat aHTel
Idadini?

(A) 6000
(B) 32200
(C) 4800
(D) 4000
AT Y3 § 40 fent fg ST Ae@T I »3 B

fer § 60 font i€9 o9 Ae@ J1 C T 5%, B4
& THIe 12 feat fiEg ofH § od fom| ¢ e

faa feat feg wifrd © Y3 e AdeT 32
(A)  24fes
(B) 48fes
(C) 1o0fes
(D) sfex

11
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42.

43.

A school conducts periodical exams
every second month. Maximum total
marks in each periodical exam are 500.
The aggregate marks obtained by one
student in each periodical exam in a

8 Ag® Id TH HdtS Hdtd=g Yiftmrret
IS J1 I HdtdeTd Uifmr feg
§93H »id 500 I& | B UTH widrefHd AT
fS9 Id Hdla=d Yiftmr {39 B fefemras
Jia'g feg TIAe I1e IS |

particular academic year are represented
in the line-graph given below.
410 395 400 —4—Marks...
400
- 390 385 /./.7
s 380
£ 380
I
5 370 365
£ 360 {355
]
= 350
340
330 T T T T
& & & & S
¥ o Oép Qe,‘-vé(\ QQ\F'& é@
Months

What is the percentage of marks obtained
by the student in the periodical exams of
December and February taken together?

(A)  75.5%
(B) 77%
(C) 78%

(D)  73.25%

A sum of money at simple interest
amounts to 9,015 in 5 years and to
310,054 in 6 years. The sum is:

(A) %3,132

(B) %3,988

(C) 3,820

(D) 3,889

410 400
400 /33-"/-7
390 T2
% 380
365

370

E.aso 355 /{
./
350

340
330

—— Marks...

d Q;%%Qe
THYd M3 gd<d! ©i Hdl&aTa iftmet §
et fefemragnr Enrar Y3 wigi &
PEiEL K
(A)  75.5%
(B) 77%
(C) 78%
(D)  73.25%
8 It AuTg<E fenm 3 5 A% <9
39,015 W3 6 ATST {9 210,054 J A<t J|
_d’rFﬂEﬂﬁ?'Jfﬁ:
(A) 3,132
(B) 3,088
(C) 33,820
(D) %3,889

12
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44,

45.

46.

The cost of 30 flats was 60 lakh each.
A builder sold é of the flats at 15% profit

1
and p of the flats at 6% loss. If he suffers

a net loss of 10% after selling the
remaining flats, then what was his loss
percentage in the remaining flats?

(A)  14%
(B) 14.3%
(C) 28%
(D)  14.5%

A sum fetched a total simple interest of
X5,409 at the rate of 9% p.a. in 5 years.
What is the sum?

(A) 312,325
(B) 312,020
(C) 312,000
(D) 18,523

The given bar graph shows the number of
runs scored by a team in each of the first
six overs of a match.

16

14

12

10

=T N - -]
| ! L L !

Over 1 Over 2 Over 3 Over 4 Over 5 QOver 6

In which over did the team score 10 runs?

(A) Over2
(B) Over3
(C) Over4
(D) Overb

30 eBet T B1I13 160 BY Yt e Al
fan fawsd 3 1 a8521 § 15% B9 303 -
TSt Q 6% TTa1 '3 <fn| 7 g Tt
3fde S8l § 29T 3 T IS 10% Tl
JIB YItH33T fdat H?

(A)  14%
(B) 14.3%
(C) 28%

(D)  14.5%

8 TaamHt 3 5 AT fe9 9% Yt A <t
¥ '3 35,409 T HUIS fon™ Y3
I TSI T Y3T |

(A) 312,325

(B) 312,020

(C) %12,000

(D) 318,523

fa3 famm €19 96 HAES & Ufdd & B<d
(Overs) fed goa feg ffq 1 <& gremi
It Tt B Hife § TIAETT )

16

14

12

10

(=T NI - -]

Over 1 Over 2 Over 3 Over 4 Over 5 Over 6

M B fam =g fEg 10 €31 gz

(A) B<d2
(B) ©<d3
(C) B<d4
(D) ®<d5

13
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47.

48.

49.

50.

Which of the following fractions is the
greatest?
6 2 20 18

> X
vw
[\S)
[EN
Ul

C

2
N _ WIN oy
o U"|oo

(D) 20
21

If x = 0.00458 and y = 0.00542, then
what is the value of x2 + y? + 2xy?

(A) 1
(B) 0.01
(C)  0.001
(D)  0.0001

, 45
If the given number
96 X 400

is expressed

in simplest form and the denominator is

expressed in the form of 2™ X 5™ then
what is the value of ‘n’?

(A) 1
(B) 12
€ 9
(D) 8

The average temperature of the first four
days of a week is 37 °C and the next

2 days is 39 °C. If the average
temperature of the week is 38 °C, then the
temperature of the last day is:

(A) 40 °F
(B) 40°C
(C) 37°C
(D) 41°C

J& fedturt {951 g A9 3 <51 faadt 7

6 2 20 18
7’3’21’ 5
A) 6
7
B) 2
3
c) 18
5
(D) 20
21

Ax = 0.00458 M3 y = 0.00542 J,

a2 +y2 + 2xy THB AP
(A) 1

(B) 0.01

(C)  0.001

(D)  0.0001

D It e —>— & FE I s
96 X 400

QUG YR di3TATT I w3 Id §
2" x 5™ QU yeafms 3T dAiwr 4,
3t THB AN I?

(A) 1
(B) 12
(C) 9
(D) 8
g 923 = Ufg® 979 fes! T »iAz IS

37 °C I W3 Wd® 2 fest 2139 °oc J1 Add
TS3 T NIAS IUHTE 38 °C J, 3T wif3H fes
T IYNTS feT 7

(A) 40 °F
(B) 40°C
(C) 37°C
(D) 41°C
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51.

52.

53.

Seema bought a book and sold it to
Reema with 20% of profit. After some
days she needed that book and again
bought that book from Reema. Reema
sold that book to Seema at X396 with
10% of profit. What is the cost price of the
book?

(A) %300
(B) %400
(C) %500
(D) %600

In the 9t class of a municipal school, the
ratio of total students of section A to
sectionBis 6: 11. If 40% in section A
are girls and 48% in section B are boys
then what percentage of students in both

the sections are boys?
(A)  54.8%

(B) 56.8%

(C) 45%

(D) 49%

Study the following bar graph and answer
the questions based on it.

Earnings from User Fee at Toll Plazas in India (in ¥ Crore)
6000 e aa " BOT Projects

4937

5000

4179 3993

4000
3447

3000

2000 1848

1790

1825

1135

1000

201314

-

201415 2015-16 201617

In which of the following years did the
BOT projects contribute more to the
revenue collection?

(A) 2013-14
(B) 2014-15
(C) 2015-16
(D) 2016-17

T S 8 foa3mg ydte w3 20% &3 ©
&% I § <9 ot g3 fost eme BR §
EGACEL S R ERN SR E I UCESC I ISR
fg3rg ydie Bt I3 10% B3 T &8
B fa3mg AT & 3396 feg <t | fa3mg =
ydie Ha ot Hi?

(A) %300

(B) 3400

(C) 3500

(D) 3600

&AIGUTS AT A T 93 F&TH 29, HaH
A %3 AT B © & fefanraet o
WMRU3 6 : 11 J1 1 AT A 29 40%
It I& w3 AAHs B fe9 48% H3 TIs 3t
Tt Hame! 3 fefonraght @ fofd YZtms
H3 I&?

(A)  54.8%

(B) 56.8%

(C) 45%

(D)  49%

forasy3 813 9re T wifts 373 w3 fere
MUTg 3 YA T §39 fel

Earnings from User Fee at Toll Plazas in India (in ¥ Crore)
6000  Revenve Collection 5 Revenue Shared from BOT Projects

4937

5000

4179 3993

4000
3447

3000

1848

201314

1790

1825

201516

2000

1135

1000

-

2014415 2016-17

forafaiuz fod faa’ Arst f€9 BOT Yrac
B HS T fod 396 feg <00 Waes
yrfgnr?

(A) 2013-14
(B) 2014-15
(C) 2015-16
(D) 2016-17

15

AC



54.

55.

If 60% of % of a number is 63, then the

number is:
(A) 125
(B) 100
(C) 150
(D) 175

The given frequency polygon represents
data obtained from a grouped frequency

distribution giving test scores of students.

The class marks are given along the
horizontal axis and the frequencies are

given along the vertical axis.

Marks obtained by students in a test out of
100

14

S
/1

In which class interval do the marks
obtained by the fewest number of

students lie?

(A)  60.5-70.5
(B) 59.5-69.5
(C) 54.5-74.5
(D)  60-70

ﬁaafé’aﬁfww%%wesm,eﬁ,?’@a

HitT U1 4|
(A) 125
(B) 100
(C) 150
(D) 175

o3t aret grdarg3T 9ggH, fefonmraghi @
it wiq ©aAT Idt fe s Ayfae ardaras
33 3 Y3 wiafnt § Yyedfits s3<t Ji
y3<l udt &8 oSt It Ji

Marks obtained by students in a test out of
100

14

, A\
10

N
/

73 3 W2 fefenrgdit @t yry3 #id fan
2Jd M3TH feg I&?

(A)  60.5-70.5
(B) 59.5-69.5
(C) 54.5-745
(D)  60-70
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Mental Ability and Logical Reasoning / HfEHS W3 %3 339 WA

56.

57.

58.

59.

60.

Select the number that will come next in
the following series.

5,6,14,45,
(A) 90
(B) 93
(C) 138
(D) 184

Select the letter that can replace the

question mark (?) in the following series.

F,G, I, L,?
A) M
(B) N
(C) O
(D) P

Select the number that can replace the

question mark (?) in the following series.

32, 37, 44, 49, 56, 61, ?

(A) 66
(B) 67
(C) 68
(D) 70

Select the letter-cluster that can replace
the question mark (?) in the following
series.

YXW, VUT, ?, PON

(A) QRS
(B) SRQ
(C) RSQ
(D) QSR

Select the letter-cluster that can replace
the question mark (?) in the following
series.

DJPV, CHMR, BFJN, ?

(A)  ACGI
(B) ACHJ
(C) ADGJ
(D) ADJG

GF At T 9T 99, 1 Jo1 i3 B3 feg

yEi g () 3uredi
5,6,14,45,

(A) 90

(B) 93

(C) 138

(D) 184

89 »iyg 3 1 It i3t B3 fe9 yis fdg
?) T T & A

F,G I, L ?

(A) M

B) N

C O

(D) P

Ba Hitp g3 1 J&1 i3t 531 <9 yrs
g (7) e BT

32, 37,44, 49, 56, 61, ?

(A) 66

(B) 67

(C) 68

(D) 70

BJ »ud-AYd g 1 J&! it &t i<e
yrs fdg () S gt $ Aal
YXW, VUT, ?, PON

(A) QRS

(B) SRQ

(C) RSQ

(D) QSR

8 »ld-AYJ ¥ H J& fiedt &1 i<e
yis g (2) S8 8 Aol

DJPV, CHMR, BFJN, ?

(A) ACGI

(B) ACHJ

(C) ADGJ

(D) ADJG
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61. Sixfriends P, Q,R, S, Tand Uwere aged B¥H3P, Q,R, S, T »3 U € 81 4y
dlfferen.tly. Number of persons elder to Q 1 QI3 fangImi d B s I 20
was thrice as that the number of persons o A .
younger to S. P was youngerto S. U was (e3P S Htm w1 35 arar v/t P, s 3
younger to R but elderto T. Whowas the gar+t] y RI8aTUg TISITHl| T
2nd eldest person? .o " N

P A 3 <37 fonat e Hi?
(A) R (A) R
B) T B) T
C) u (C) U
(D) S (D) S
62.  Which of the following answer figure J&t fefnt g fagdt €39 w3, yms
completes the series of the question W@ﬁgwmﬁv
figure? T
x ollA |ls x| 2 |[+ x s|lA |l x| 2 |+ e
(A) S (A) 8
A A

* ¥

(B) — (B) —
& A ¢ A

* *

(C) U (C) ()
A A

* *

(D) S (D) 8
I A LA

* *

18 AC



63.

64.

The following figure is folded to form a
cube. Which of the following pairs of
symbols will be on opposite sides?

$
@ | #|%|&
(A) #and %
(B) @and&
(C) #and=
(D) @ and %

The following figure is folded to form a

cube. Which representation of the cube in

the given option is correct one?

@
#1%|=|+

%
(A) %

# =
(B) %

@ +
(C) #

+ |
(D) @

% =

It &St nifeFt § i we g8 Bt
N famr J1 It 3 e g At i

faga fdg wr feddt fomr f&g J<am

$
@|#|%|&
(A #mM3%
(B) @m3&
(C) #mM3=
D) @3 %
Ja&t fo St wifg 3t § e wE gege Bt
Nnr famr 3| »igl fid3 feamsui fed we
faazr fogue Adt 32
@
#|$|=| +
%
(A) %
# —_
(B) %
@ +
(C) #
+ -
(D) @
% -
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65.

66.

67.

68.

If M is the brother of the mother of the
son of N, then how is M related to N?

(A)  Sister's husband
(B)  Wife's brother
(C) Brother

(D) Son

Find the missing term in the following
letter series:

CHM,__  EJO, FKP
(A) DFG

(B) EIM

(C) DIN

(D) EJN

Find the missing term in the following
letter series:
PQ, ,VW,YZ

(A) ST
(B) QR
(C) RS
(D) TU

Study the following arrangement carefully
and answer the question given below:

‘A x B’ means ‘A is father of B’

‘A + B’ means ‘A is daughter of B’

‘A + B’ means ‘A is mother of B’

‘A — B’ means ‘A is brother of B’

In the expression A +B — C x D, how is A
related to D?

(A)  Father's mother

(B) Sister
(C) Mother
(D)  Father

AIIM, NTYIIAH T IT I3 METN
&8 ot fgasT I?

(A)  ITTY

(B) u3alEIT

(C) 3T

(D) Y39

Jot fiddt »iyg Bt feg BU3 UT U319
CHM,  EJO, FKP

(A) DFG

(B) EIM

(C) DIN

(D) EJN

Jot fid gt »iyg B3 feg BU3 UT U319
PQ,__ ,VW,YZ

(A) ST

(B) QR

(C) RS

(D) TU

gt It 393t = fos 7% wftis J9
W3 It f'e3 Yrs w1 €39 fe6:

‘AxB TugEIABTUTT

‘A+B TWIEJA BT

‘A+B TNIEJ A BTEHIT

‘A—B TWJEJ A BT ITJ

forfig A+B-CxDfeg, AT DB St
famar 7

(A)  fyzgrdt
B) IT

(C) w3

(D) fyzr
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69.

70.

In this question, three statements have
been given followed by two conclusions
numbered | and Il. Assuming that all
information in the statement is true,
analyse the two conclusions together and
determine whether any of them logically
and definitely follow(s) from the
information given in the statement.

Statement I: Some angels are devils.
Statement II: No devil is demon.
Statement IlI: All demon are gods.

Conclusion:
[) All devils being gods is a possibility.
[I) Some devils are gods.

(A)  Only I follows
(B)  Only Il follows
(C) Bothland Il follows

(D)  Neither I nor Il follows

In the question given below, there are two
statements marked as Assertion (A) and
Reason (R). Mark your answer as per the
codes in options.

Assertion (A): Kashmir is colder than
Delhi.

Reason (R): Kashmir is at a higher
altitude as compared to Delhi.

(A) Both A and R are true and Ris the
correct explanation of A.

(B) Both A and R are true but R is not
the correct explanation of A.

(C) Aistrue butRis false.

(D) Alsfalse but R is true.

fen ys 9, 35 qust 3 gme 2 fHe
At | w3 At 11 €3 I8 I8 | JEaT ey
T fedfont ferdae a9 w3 foduids 99
fq T<t fed faaz fier quat feg i3t aret
AEadt & 399 Has w3 femfas 39 3
UB ST JI1 J|

JES |: I3 T3, 316 TG |
JES |I: A8 € AT, ©3 5t JI
JE& 11 A9 23, J9 I& |

i 1) A9 A3 ® 99 I T HeesT J|
Il) I3 /IS, J T |

(A) AT fifeT | UB T e d

(B) 9= fHer Il UgTT gIerd

(C) wIH I3 1 USIT I IS
(D) & 3T & d I UST Iaer

It i3 I8 yHs &g € gt & T (A)
"3 d19% (R) T fofq3 o3t famr J1 »mid
§33 § feamui &g i3 A31 nigATd fdfg3

JJ|

TR (A): IHlg, 8 3 83131
135 (R): g, fiee! €t 3saT feg
fepmer Gt €3 J1

(A) TAMIRHAI IS M3 R, AT AR
fenfep J|

(B) TSAW3RHIISYUIR, AT A
fenfept st I

(C) AAARUIRISBII

(D) AJIWB3IIUYIRAANII
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71.  Select the correct alternative which can  Hdl feg@y € 9 a3 1 wifq @t § yIr ad
complete the figure: AT J|

Bk Rhkb

(A) B (A) B
B) C (B) C
(C) D (C) D
D) A (D) A

72.  Select an appropriate figure from the €33 nifqdt 3 fiq ga<t gt g& A
answer figure to fit it in the place of ? Urs f@a (?) R AETS 3wt

Tl |74l

1 2 3 = 1 2 3 4

el I AWAVAY =] | AWAVA

A B C D A B C D
(A) A (A) A
(B) B (B) B
(C) ¢C (C) C
(D) D (D) D
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73.

74.

75.

Which number will come in place of the
question mark (?) in the given number
series?

5, 6, 10, 18, 20, ?, 40, 162

(A) 54
(B) 65
(C) 108
(D) 136

Select the answer figure that can replace
the question mark (?) in the series given

in the problem figure.

Problem Fig.

fa3t aret At B3 189 yrs fda (2) S df
3 faadt At wireait?
5,6, 10, 18, 20, ?, 40, 162

(A) 54
(B) 65
(C) 108
(D) 136
87§39 f'939 g3 1 It &3 mifimr fd33

feg iRt s 2 yia fdg ) S g & A<

Problem Fig,

% | [ %%

A |

A R

A B C D E
Answer Fig.
2[5 |2 %
1 2 3 4
(A) 1
(B) 2
(C) 3
(D) 4

Which of the following numbers are
present in only 3 geometrical figures in
the given diagram?

(A) (39, 52)

(B) (26, 52)

(C) (24, 25, 26, 52)
(D) (25, 26, 52)

A B C D E
Answer Fig.

2[5 [ &2 %

1 2 3 4
A) 1
B) 2
(Cc) 3
(D) 4
Jo ffanrt i fagdt Hitmret i3 are
fg3d feg fdg 3 fatifcas @u-aifes)

fg3dt feg Hage I&°?

48 50

26
52
25 2 31

39

37
43

(A) (39, 52)

(B) (26, 52)

(C) (24, 25, 26, 52)
(D) (25, 26, 52)
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Language Skills (Punjabi/ English) / 3Tt ©® g&d (UATst/ »ard+l)

76.

77.

78.

79.

80.

TI3 FEE T At WiddHt »igee JI

(A) Help
(B) Relief
(C) Relive
(D) Rescue

Given below is a sentence that is jumbled. Select the option that shows the correct
order of the fragments to form a meaningful sentence.

P. see that woman

Q. along the street

R. | often

S. walking
(A)  PQRS
(B) RSRQ
(C) RQPS
(D) RPSQ

Select the most appropriate ANTONYM of the given word.

REPEL

(A) Attract

(B) Magnet

(C)  Substituent
(D)  Sharp
Select the most appropriate SYNONYM of the given word.
BLARE

(A)  Hinder

(B) Ponder

(C) Plead

(D) Scream

|dentify the segment in the sentence which contains a grammatical error.
| do not/ agree to / you in / this matter.

(A) Ildonot
(B) agreeto
(C) youin

(D)  this matter.
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English Passage

Read the following passage carefully and answer the given questions from Q 81
to Q 85.

Super-30 is a philanthropic mission for the upliftment of talented students from
underprivileged community and the moving sprit behind the initiative is Anand Kumar,
a mathematician. He has, through his initiative, ushered in a silent reawakening in
Bihar, having produced lITians out of the students from the underprivileged sections of
the society. In less than seven years, 187 students — right from the son of a sweeper,
rickshaw-puller and landless laborer to the progeny of a security guard or green-grocer
— have made it to India’s prime institutions. The initiative was named Super-30 because
it started with a short-listing of 30 poor but talented students. All of them were super in
talent, says Anand. Initially, making arrangement for 30 students was not an easy job,
but Anand’s family extended all help in his endeavor.

Anand generated finances by tutoring students of other schools while his mother,
Jayanti Devi, cooked food for the students. For the students, there was only one goal —
to study hard. What followed was rigorous training of the students and the results came
as a big surprise in the very first year.

It motivated Anand to put in more efforts along with his team of dedicated teachers. In
the last seven years, 182 students have made it to different lITs in the country.

In 2003, when Super-30 started its journey, 18 out of 30 students has cracked JEE. The
very next year, the number jumped to 22. In 2005, it improved further to 26. Continuing
the trend, 28 students made it in 2006 and 2007. The magic moment came in 2008
when the result was an astonishing 30 out of 30. Super-30 had hit the bull’s eye. It was
a dream comes true for Anand and his team. Super-30 had done it again in 2009. It had
been 30 out of 30 for the second year in succession. Anand says that the thrust would
be on developing inquisitiveness — so very important for science and mathematics
education. From 2010 onwards, he has decided to increase the intake from the existing
30 to 60 students. Poor students from other states would also get an opportunity to be
a part of the program.

The genesis of Super-30 has a lot to do with the hardship that Anand had to face when
he was still a student. After the demise of his father, a postal employee, he got the offer
for a clerical job on compassionate grounds, but he refused it. He wanted to continue
his studies but faced heavy odds. Later, his mother started making papads, called
‘Anand papads’, and other home-made products, which Anand sold from house to
house. As days rolled by, some started calling him papadwala ladka. But, for Anand, it
was just a passing phase. He worked hard to make a living and in his spare time,
studied mathematics. The struggle gave him an opportunity to feel the pains of likes of
him. It was an urge from within that led to the birth of ‘Ramanujan School of
Mathematics and Super-30’.
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81.

82.

83.

84.

85.

86.

Why did Anand decide against choosing a clerical job?

A) He wanted to establish a school.

(

(B) He wanted to go to Cambridge University.
(C) He wanted to continue his studies.

(D) He wanted to help the poor.

Choose the correct synonym of ‘Genesis’.

(A)  Movement

(B) Beginning

(C)  Functioning

(D) Possibility

Students from which state were selected by Anand Kumar?
(A)  Uttar Pradesh

(B) Madhya Pradesh

(C) Bihar

(D) Odisha

How many students have made it to different lITs in the country in the last seven
years?

(A) 250

(B) 195

(C) 267

(D) 182

What led to the surprising result in the first year?
A)  Huge financial support
B) Immense opportunities
C
D

(
(
(C) Rigorous training
(D)

Struggle for survival

'Ram and Sham both are happy’ < T 7t UATet wige J|

A)  THWSEHIR YA JI

(

(B) THMITHT YA IS
(C)  THM3 TH TS YH Il
(D) TH B TAH T Yy HI
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87.

88.

89.

90.

ey 7% 951 Ie, B fod HeT o

(A) a3t

(B) yediSt

(C) I3

(D) st

ol &1 gBE N B3 WYTE § YdT A |
(A) gt

(B) gt

(C) gt

(D) 3t

St giet HIEET HJ™ed T W8 AUHE I3
(A) B3 RIS

(B) &3t ger fHst

(C) wufHma

(D) &t g

IG fafimrt fE9 Hu e 93

(A)  HIEH

(B) Hf&a

(C) W&

(D) WIf&d

Passage Punjabi

Jsife3 oD dfors s uI M3 Yy 913y 95 3a e B33 fe6

iy TaH & a3 ududr feg It 13T 3 g8<s <t 73t @ fenm 7as 31 fe 3 Haf3 =
Hifgg fegt gardvi & 7a1s arfedt 919 9da' fed Yers 93t fegi onrar 9fg3 Irast <
<9 (feal <t 29) = J1d gy 7 31 Afos 7 feg Taq J1 o fogt & »inud g5 feg Hara3
"3 Jg W feg Bxf T 89 7S T YB3y yre J | for v © Infes fogt gamdhet @

JfPret © 38 AN I1d wdis ©< il © TJ9d feg di3T1 I19-113 < 8437 w3 Iid T <Y

Jd-gut feg yseE <3t wifwmaHa IHd § fer <rg feg yr33 o3t fam 31 91d »iaas
U< 1l 378 AT o ® 'gad T HIE H 013 gufie gig ©idr Hate o <t fegi 2 gn
HE 3 Id WIS T 1t S AYJ THY Har31 § 98 1 36 9da &t 7 YA gy feg fast
W3 g1 € HI MTBT &T8 (FUH 1S &7%) 'HIUT 3 'I&d THY A3 ©t did3s yduar feg

J9 <Yy gy feg ydre gu feg Ifemr

27




91.

92.

93.

94.

95.

Jd WI feg A3 3 983 T ol T | 2
(A) THITHT

(B) HIU 3 J&ISH!
(C) TJgdl BTGl BT
(D) gRdEwT

T3 gB<s a3 T T Y fem ot 92
(A)  Jg-H3 e

(B) Y-y Jg gyt feg Ymadt
(C)  wiftpumaHa frfep

(D) JIHI3 T Ygd

H3T 3 g%<3 ©f e @1 gy Hil
(A)  »H3dta3s

(B)  HIM Jrfes

(C) WA HAl3

(D) Hd1& Jrfedt

J1d Jj8 mfag feg W31 3 §8<s <t Ife3 faadt 91 92
(A)  yAd<Ed

(B) 9IHIH &t Tg

(C) wH3diea

(D) H3A 3 AU

I fod U9 © o<t ISy
(A)  gurl

(B) JJuWd T A

(C) I HI 3 IBS Hi
(D) < IHIE
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Digital Literacy and Awareness / f3#le® Aya3™ W3 Aarga3

96.

97.

98.

99.

100.

What type of an input does the speech
recognition device takes?

(A)  Audio
(B) Video
(C) Text

(D) Image

Netscape Navigator is a

(A)  browser
(B) e-mail
(C) URL

(D)  network

In MS PowerPoint 2019, which shortcut
key is used to create new presentation?

(A) Ctrl+N
(B) Ctrl+J
(C) Ctl+A
(D) Ctrl+M

In MS Word 2019, while using wild cards
in search how many characters does “?’
lets you to use?

(A) 3
(B) 1
(C) 2
(D) 4

Which of the following combination is
NOT correct?

|. Batch operation system — Second
generation

[I. Time sharing operating system — Third
generation

(A)  Onlyl

(B) Onlyll

(C) Bothlandll
(D)  Neither I nor ll

T ygTe f3efen fan 39 o feaye 3«
J?

(A MEIG

(B) <IEG

(C) fwu3

(D) fd3d

AN N

STHAY Blded (Netscape Navigator)

i JI

(A)  ggHI
(B) €-H®
(C) URL
(D) &IeId

MS PowerPoint 2019 <4, &<l YH&HE
f3ng 995 B faadt Ardcd -t <t 293
CiEIGIEIRE

(A)  Ctrl + N
(B) Ctrl+J
(C) Ctl+A
(D) Ctrl + M

MS Word 2019 feg, Add feg @fes3
193 ©l <93 I AN, ‘7' 3T fdd »iydt
<1 293 9d& foar 7

(A) 3

(B) 1

(C) 2

(D) 4

foat fed fagz T Adt &t 37
|. 9 Quaféar fmer - Tt Ui
II. T HIST J96 <& Guafdar fimAeH -
EGIRYE]

(A)  fHIZI

(B) fHI= I

C) 1M%<

(D) & 3IaT
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Read the following instructions carefully:

J& Ta7 geest § s 53 ug:

1. Out of the four answer options given for each question,
Candidate has to be darkened only one option as answer
on the OMR Answer Sheet. The answer once marked can

not be changed.

2. The candidate should ensure that the OMR Answer Sheet
is not folded. The candidate should not make any stray
marks on the OMR Answer Sheet. The candidate must
not write the Roll No. at any other place except the
specified space in the OMR Answer Sheet.

3. The candidate needs to write correct and same Test
Booklet No. & Test Booklet Series in attendance sheet as
these are printed on Test Booklet.

4. Candidate needs to show his / her Admit Card whenever
it is demanded by the Invigilator.

5. Candidate is not allowed to leave the seat/ test center
without taking special permission from Invigilator or
Center Superintendent.

6. The candidate is not allowed to leave the Test Hall
without signing on attendance sheet & handing over

OMR Answer Sheet to the Invigilator.

7. Use of Pencil/Electronic/Manual Calculator is prohibited.

8. The candidates are governed by all Rules and
Regulations of the Recruitment Board with regard to
their conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and Regulations of

the Recruitment Board.

9. Candidate must return OMR Answer Sheet & Treasury
Copy to invigilator once after the Examination is
completed. Candidate can only leave the Examination
Centre once after receiving the Candidate OMR copy

from Invigilator.

10. The Candidates are required to submit the Test

Booklet to the Invigilator after the exam.

11. Question Paper will be available on Recruitment Portal
for future references within 24 hours after last shift of

examination is completed.

10.

11.

939 fic 3 B T35 unrfee Us &5 A= fEx feasu § €39
= T F9o I fEa =9 fdpa A3 I €39 § sefowr &t
7 A

Sifeeg’ § fog wetsl g=@= vder 3 fa €39 die i@t &
R Gfiese § €37 Hie 3 feus-8ua Id & foms adi
sIrgE Taerl  Gffeee § G €39 Hie g
foguras Aqf 3 fomrer I fa3 & wuer I S99 &4l faue
gdter]

2Ac Had< Aldi fgue J=at 7 SAc gad<e 3 =1 38 Is1

fsargs garar Hat AT 3 Sieeg § wuT THET F9F
fewg@e J2ari

faags & dTg @ Auade I ferA wigmr 32 fasi, ad &
Srifeeg wuF Menfifinr T3 &di £3 AaTTHEE |

SieTg § wuFt TS Hie 3 gE3HT J13 fast w3 €39 fie
363 fouras § A fias® iftmr o8 3 599 7 & wrfomr
&t 31
Aafrsfedadfcantaws Isadea € <93 396 & Hadt 31

fifimr g% f9 @9&* © wode @ Adn R9 Giee9 Ay
YfgH 3931 993 © A famd w3 fefsmi wilts J=at | wgfas
<91 @ 7S wHfewt § 3931 593 © fomnr w3 fefamit wigAg
fauerfanr Aar|

e w3 I= 3 =i, Gt wrudt 6hirg €39 e
¥eT €e39 ©f at fasgrgs § Truw ader/adet| feees <8
Srifees € Guhinrg anit fiuse 3 gme & Srileeg ifimr
TB &3 Ade 3|

i 3 mmre Giffeest § iRt e Hade fagars a8 my
JIGE IS |

fusst fiftmr fiige @ yaHs J= 3 24 uifew’ @ wiegrieg
Jar|

Note: English Language will prevail if there is any discrepancy in instructions for Punjabi Language.

&< A9g UAsh I S gerfest fog aut @ wizg uftwr Jier d 37 widaHl I o oerfes yHed Jedfl
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